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BCGBS/BCCBS-SN301
B.Com. (Genl) & B.Com. (CAS) DEGREE
EXAMINATION, MARCH - 2023
(THIRD SEMESTER) (NEW REGULATION)
COMMERCE (Common Paper)
Business Statistics
(w.e.f. 2020 -21 Admitted Batch)

Time : 3 hours Max. Marks : 75

[ =

SECTION - A (5 x 5 = 25)

Answer any FIVE of the following questions

1. What are the important functions of statistics?
ETOEBRO G300, SoopsRos Deoed D9

Write the uses of Graphs.

P° W(B°0 A8 &IATTTPOS) EPOK050.
2 Find Mean.

90850¢35550500:80 S80S0,
x : 4 8 12 16 20 24 28

y : 3 9 21 30 18 12 7

S-256 [1] [PT.O.
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4. What are the merits of Mean Deviation?

f s Diseo Gk, HOIrERTe) D9

~ 'ff/ Calculate the Co-efficient of Skewness from the data.

B SE0FH00N% ?_;’);5352132'950363 Béboéo&.

[tem
6 7 8§ 9 10 11 12
BISEN)
Frequency
6 9 13 8 5 4
T
6. What are the main methods of calculating Co-efficient
of correlation.
00050 G0l S0 oo GFabod
- Write about ‘Meso Kurtosis’ and ‘Platy Kurtosis’,
Meso Kurtosis’ 5ok ‘Platy Kurtosis’ 1r8) @rabod,
. Find Median for the following data.
OS5 00 ST OB LS50 5T 508,
X: }é 23 1y )
45 '
/ .9 oy 341//
J , ‘/
S-256 | |
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SECTION-B (5% 10=50)

Answer FIVE questions

’»
9, a) Define Statistics? Discuss the merits and
limitations of statistics.

e 30 D007 MEOST 0 G Sairerr oo 008
S0 B0l
OR

Following are the marks obtained by 50 students
| in statistics. Make a frequency distribution Table
taking a class - interval of 10 marks.

l. Herosagod’ 50 3008 AyHge S B JALRls, 61D
| 00 10 STnEm sy Deress Se3o Sofreiahod
;(/ s st 4y 51 47 60 A7 63 53
) , 4 y é . P : /v
65 39 82 55 64 58 61 65 /42/
0 58 55 4 # ;/ 59 63 34
65 54/( s4 64075 g2 M52/

30 f /s 48/ % }6 40 A5 46 I8

B3I [PTO.
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10. a) Define Arithmetic Mean? State its uses and
limitations.
) SO0 1085507 okt oo &SRR 0B
BB Bessods,

) OR
b) Calculate Q,Q,,D , and P__for the following datéx.
Q10 BEP0RTD Q; Q;; D, 50800 P, o B4oi0d. .
Marks : Above Above Above Above Above Above Above
D0 10 20 30 40 50 60 70

Frequency:
200 195 183 127 52 17 4

TR0

11. a) Define Dispersion? State the

uses or objects of
Dispersion.

D:_ngea;’nwi)& VSR N ARBERITe Bty eéa*’seo B
E0TTPERD Bsiod,

S-256 4]
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OR

) Compute Mean de

i viation from
and its coeff

I Arithmetjc Mean
cient for the following datg,

O S0555% 5 sy OS5 T Mool
000 T G ety Boisod,

lessthan less than lessthan  less than lessthan  less than

X: 20 30 40 50 60 70

e 1 4 9 29 39 44

12/ a) Define ‘Skewness’? Write about the skewness in

brief and explain the Relative Measures of
Skewness.

SRR055520 D02 Foss0 Ky o T ooy 2
e K78) AsBoisod.

$-256 15| {h50
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OR

) From the data given below calculate Karl Pear

son’s Co-efficient of skewness :

5 deiberdis S0t 576 2058y G Bsog Foprsoniso

oo,

Age :
20-25 25-30 30-35 35-40 40-45 45-50 50-55 55-60)

: :v‘u

No. of

persons :50 70 g 180 150 120 70 50

009

.’

13/a) What is correlation

? State its importance and its
types.

13

Bousod,

S-256
(6]

005" e ) DR 22000 10,

BCGBS/BCCBS-SN301
OR

%) FindKarl Pearson’s Co-efficient of correlation ang
probable error of the following data,

) £ ot T
BN P50 i SO0y 08 ooty Forasis

B0k ogre Bty Boriod,
X: 4570 65 30 90 40 50 75 85 g0

Y: 3590 70 40 95 40 60 80 80 50

‘00

S-256 171
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/ BCGAA/BCCAA-SN301

6 B.Com. (General) & B.Com. (CAS) DEGREE
EXAMINATION, MARCH - 2023
(THIRD SEMESTER) (New Regulation)
COMMERCE (Common Paper)
Advanced Accounting
| (w.e.f. 2020 -21 Admitted Batch)
Time : 3 hours Max. Marks : 75

SECTION - A (5 x 5 =25)

Answer any FIVE of the folloWing questions

Meaning and Definition of Non-profit organization.
TOB 05 T 980 50050 AWyiSio,

2,/ State the advantages of Single Ehtry system.
2,083 0 TR0 QoY BT Se0R0?
4 What is Hire purchase system.
QTSR0 D emdny

ﬂ. State the factors determine the goodwill of the firm.
LSS0 GG DT80 Stiers Brssod,

F

S-255 1] [PTO.
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What is dissolution of partnership firm?
T IRnyiog 9083 SO e 307
~
{  What is Receipt and payment account?

S50 5000 TP T GITRIL?

7. A, B and C are partners sharing profits and losses in
the ratio of 5 : 3 : 2. ‘B’ retires from the business A and
C share the future profits in the ratio of 5/8 and 3/8
respectively. Find out the gain ratio of A and C.

. \
A, B 580 C o0 gRidrgisod gritpeo ogiifoid 5 : 3 : 225968
BoSH0eD. ‘B’ g0 5000 DEA0TWETAE. A 50050 C eo

56 Treren 5/8 0800 3/8 . @0 A 5000 C o a0
Sy~

8. ‘X’ & Y’ are partners sharing profits in the ratio of
3 : 2. They admit ‘Z’ as partner. Their new profit
sharing ratio is 5 : 3 : 2 calculate the Sacrificing Ratio.

X 50800 Y e griisgeor grirgisos ergred 3 1 2 D58E°

DOE0LTED. T ‘77 0 5008 grIRS™ 980508 0wED. 370 ooy

Sr&S orgrfo Tero JyB 5 1 3 1 2 0000 g A8 SoiSod.
S-255 12]
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SECTION - B (5 x 10 = 50)

Answer FIVE questions

9. a) Explain the procedure for preparation of Income
and Expenditure Account.

37050 08050 $5oh0 PTess BIoBOUID TR0 Ko 5B
DB

OR

b)Y’ A summary of Receipts and Payments of Medical
Society for the year ended 31-12-2021 is given

below :
Receipts k4 Payments k4
To Balance b/d 7000 By Paymentformedicines  30.000
Pe Subscriptions 50,000 By Honorariumtodoctors  10.000
b Donations 14500 By Salarics 27,500
\ﬁ Interest on Investments 7,000 ‘By Sundry Expenses 500
Y @™pa. By Equipmentpurchases 15,000
B Charityshowproceeds 10,000 By Charityshowexpenses 1,000
By Balancec/d 4500
8500 38500

S-255 ’ 131 [PT.O.
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Addidonalinformation * || 21 31-12-2021
i k4

Subscriptions due 5,000 1,000

Subscriptions received 1,000 500

in advance

Stock of medicines 10,000 15,000

Amount due to medicine 8,000 12,000

suppliers

Value of equipment 21,000 30,000

Value of buildings 40,000 38,000

You are required to prepare Income and
Expenditure Account for the year ended 31t Dec
2021 and the Balance Sheet as on that date.
31-12-2021 T3 30885326350 5074 50001 Boipe gree
STen BIHS oD,

550 & Boweo o

B 89y530y M0 By BAXSHIDases 000
B e 50,000 By XixenAssksso 10,000
b &35 ‘14500 By gferen 27,500
Toaxygexioed 56 7000 By 296 piioeo 500
Tt @Th TSy By ooy 15000
b TS0, 10000 By woed2p PP 100
By 390 4500

88,500 88,500

14]

10. a)

S-255 °
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S S -
1-1-2021  31-12-2021
&, &r.
O0RS Sotren 5,000 1,000
5000057 SN Horren 1,000 500
DoADS) () e 10,000 15,000
BADS S DoT P I 8,000 12,000
Eets SN 21,000 30,000
g5 Deasd 40,000 38,000

31 GRoext 2021 & eodiiodi 8058008 exrab iS50 37T
So0aho e Eﬁéwﬁéesf‘\g@;’b;e)mgﬁw&lﬁoﬁo&
What do you understand by Single Entry? How
does it differ from double entry system?

3¢5 Do T2 98 2306 505 DRSS O Desorr DFHA?

OR

Giridhar keeps his books on Single Entry System.
His position is as under.

1-1-2020 31-12-2020
4 <

Cash in hand 500 300
Cash at Bank 6,000 -
Bank overdraft - 5,200
Stock 15,000 28,000
Furniture 700 640
Debtors 19,600 26,600
Creditors 18,000 15,000
Plant and Machinery 30,200 36.200

151 [PT.O.
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hdrew T 40,000 from the

Dur.ing ﬂ;:of: i:\frhl;::eh\l‘:‘cd;)aid 2 10.000 college feeg
b‘t{sl:r.‘efon and balance used to purchase motor
2ehi::Sle for the business. of Debtors X 600 l_)ad and
rovide 5% on the balance for provision ror
goubtful debts. Ascertain the profit or loss durmg

the year.
wmwm&wﬁgww%ﬁ:ﬁﬂ
ol DX 6 AT T
’ 1-1-2020  31-12-2020
fovil] ™

dod' s 500 300
o’ HLO 6,000 )
mmpé . 5,200
BN 15,000 28,000

W 19.600 26,600
Q0TI 18.000 15,000

Tondanangw 30,200 36,200
AaETyroe 2000 &1 40,000 8% ol 2ol &1 10,000
00 1) 8l doe 3oncn0 2R Lol e
311600 2 endoam 3dol, 2003 Inde 3 5% o2 erde
AR Jopt ol Ao cgo & e SuThod

o]

BCGAA/BCCAA-SNSOI
11. a) Explain the differ

) ences between Hire Purchase
System and

Instalment Sy stem.

%g‘f‘ﬁnﬂ~‘<‘f<.:.\u___ L e < o p
o MO T LT e S s itoted

OR

A motor car was purchased by Raghu Ram & Co.
on nstaliment system. The cost price was
¥ 180.000. Payment to be made T 45,000 down and
three instailments of ¥ 54,000 cach at the end of
cach year. Rate of interest charged by the selling
company at 10% p.a. Buyer depreciates the asset
at 15% p.a. on written down value method.

The agreement was signed on 1¢ January 2016
Write up the Journal entries and necessary ledger
accounts in the books of Raghu Ram & Co.

B 0% & Son T TOUCT 305 5550 23 TR Th
e S £ 5060 180,000 Fepo = 45,000
386 ey T8 3 Touced’, e 1 18 54,000
TR 96 0o I Bt e N e 10%

. Wi‘n.« A W

o
A Bt o8 1o B sy kL x
i -E_r*«‘_.»‘; --'I.w—ow;w;n A
- - o
S XA g % QANA aaXumgins |
2500 1 3% 300ens o) SONERA. efoes
5 - bl .-
Ay AT A RN R R Y m L, @
TG L0 QOOSE SCalleka, e a
- -

DR e 2 elE ol o kol
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12. a) Define Partnership? Explain different methods of
maintaining capital accounts.

g Do’ I GRpng MrelsS FEe
RIS o DN e 170 Mool

/ sharing profits and losses in the proportion of
_/ 6/14,5/14 and 3/14 respectively.

4 o
b) /The following is the Balance Sheet of A, Band C

Liabilities Amount Assets Amount
3 , L4

Creditors 18.900 Land & Buildings 50,400

Bills payable 6.300 Fumiture 7,350

Reserve 7,000 Stock , 29,400

Debtors 26,460

Cash at Bank 8,890

Capital Accounts :

A 39,900

B 33,600

c 16,800 90,300
5-255 18]

S-255

. e 6D. .
him 1/8 share of profj 0 pannership and give
O1Its on the follow:
OWing terms.

i) 'I‘hat ‘Ds b . o
TINES i 16,000 s i capital,

1) That fip
furniture pe Written down by ¥ 920 and
stock be depreciateq by 10%.

111) The Provision of 7 | 320 be made fo
- . r
outstanding repair bijs.

1v) That the value of land and buildings be written
upto T 65,100.

v) Thatthe value of Goodwill be fixed atZ 8,820.

vi) The capitals of A, B and C be adjusted on the
basis of *D’s capital by opening the necessary
current accounts. Show the accounts giving
effect to these arrangements as also the

Balance sheet of the New firm.

[PTO.

19l
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‘A’,‘B’mm‘c’w?_onmgwébéﬁgom s
T YT 6/14, 5/14 5005 3/1

oo
Qi?)))&) 333@:?3 %}D &0
E0EXTERD 18,900 wmmmw%’}so
B Do 6,300 By 29,400
Bestioey 7,000 S5

26,460
mm 8,890

DI e ;

A 39,900

B 33,600

C 16,800 90,300

)0 122,500
1,22,500 m’ \
BISBeS SadTth D’ egred 1/8 S5 er T

W BISI B,
) ‘D’ 55080 o &7 16,000 Sreiio o
i) 55650 Dokt 671 920 &0 oSO
goccsiga‘a&aw §)e.»e>§a w5 8en 1,320 & 13039.\3
iii) DDoTdys o0 oy
Dahods

: 35 8P11 65,100 TP BHEUEIRNO.

o f&gzgmmms,szowmw- e

¥ B 550050 C 05005 W‘WE ng o

& :I,:"dommai‘@w gt s Sty S
bssmoe&wmm@ﬁgw g
st 0 ot o o S0 o

[10]
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@ﬁﬁ%wm‘é@mm?mmo@ _
TIT S0P 3005 Dirhos, oM
OR

Following is the Balance sheet of a firms a5 op
31* March 2021.

insolvent. CN partner ‘z’ hag become

Liabilties Amount  Asgets Amount
¥ 2

Creditors 20,000

General Reserve

20,000 Sundry Assets 1,00,000
W’s Capital Account 60,000 Y’s Capital

20,000
X’s Capital Account 40,000 2’5 Capital 20,000
1,40,000 1,40,000

The Assets realised 2 80,000. Creditors are paid in
full. Partners share profits and losses equally. You
are required to close the books of

given, applying
Garner Vs Murry rule.

il [PTO

|
|
l
11
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.A5’ ‘B’M‘C’Oeéef‘bﬂ@:)mwambojj@w
T RO 6/14, 5/14 0% 3/14 FS0HHTE:

S I e i
&l fer]]

e 18,900 wmmmw”ﬁoo

2o Dewed 6,300 6y%D 7,350

Bestiogen 7,000 $5% 29,400

Wo&ésm 87890

Jreo e :

A 39,900

B 33,600

C 16,800 90,300

1,22,500 1,22,500
B Rs0 EndTt ‘D’ Heoged 1/8 LSBT G
B 5080% esoEDOSRRD. ‘
) D’ 65508 TR 16,000 H7ero BUEDTIED.
i) 335y Devisin 6011 920 e oSSO0 10%
BEHOLOD B8 SIS,
iii) Doy SotHyw Beyeto i &I 1,320 502070
Aospods

V) 2550 Juosd &Il 65,100™ 6%19:5@;6&.

V) 1HEDEDeso I 8,820 oo Do SREELRO.

vi) A,B 0800 C o 5w grErod ‘D’ TFOHS T
QSR EOTT EB0L0 FPEE) TG0 ST Fowrd.
IO TP 53 S0R0R0DR EPe N
e 505y G4 ey sy P ol

[10]
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13- 2) X: 2iésedl.ssolﬁti0n of a partnership firm? Ment;
I In which th ‘ ion
have to be utilised. € proceeds from sale of assets 3

B Gg R0 SO e A0 3

0 % 2 SO e, %
OO S5 207 Mo 5500 aa‘m%ﬁ% e
OR

) Following is the Balance sheet of a firms as on
31* March 2021. When partner ‘z’ has become

insolvent. 5-

Liabilities Amount  Assets Amount )
2 z )

Creditors 20,000

General Reserve 26,000 Sundry Assets 1,00,000

W’s Capital Account 60,000 Y’s Capital 20,000
X’s Capital Account 40,000 Z’sCapital 20,000

1,40,000 1,40,000

The Assets realised T 80,000. Creditors are paid in
full. Partners share profits and losses equally. \(ou
are required to close the books of given, applying
Garner Vs Murry rule.

§-255 A i [PTO.
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31579 2021 7765 053 oo e edyo 3563 10 By aoelsed0.
Z @“@‘Ow’m@mcﬁa

Eopw bo¥o L0 P
&Il il
AN ARTOV - 20,900
1,00,000

Persen et 20,000 DS esieo
Wiretkoge 60,000 Yiaresoge 20,000
X aresoge. 40,000 Z’protio 20,000

1,40,000 1,40,000
33300 508 Jesss 6°11.80,000. eSO JO D00
Mm PIS00 EPERSRERD RETROM S0iHoerED. zv’qg Vs

5000 ‘owoéoa’)o apply (@oo ) DR 08 3008 9S00 Soohos
Bojxﬁm

X 4

12]
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BCGM - SN301
B.Com.(Genl) DEGREE EXAMINATION, MARCH-2023
(THIRD SEMESTER) (New Regulation)
MARKETING
(w.e.f. 2020 -21 Admitted Batch)

~ Max. Marks : 73

T,ime : 3 Hours

SECTION - A (5 x 5 = 25)
Answer any Five of the following

1. Penetration Pricing.
5’553&3"0‘33&63)@&&».
Advertising.
TRFE R,

Global Marketing.

. / 0B Srgoh
5.

Marketing Environment.

570N SorsiSKeRo.

Discuss the Pillars of Direct Marketing.
505 s Dgdofl Ghog Sorerow $50y0u0.

S-259 [ [PTO.
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B.Com.(Genl) DEGREE E
(THIRD SEMESTER)
MARKETING

(w.e.f. 2020 -21 Admitted Batch)

ATION, MARCH-2023
(New Regulation)

- Max. Marks : 75

Time : 3 Hours
—’-’

s
—

T N

[

SECTION - A

Answer any Fiv

1.  Penetration Pricing.
Sy D GOIFE.
/ Advertising.

‘ TEro (508,
Global Marketing.
/ / codqbapraih
| Marketing Environment.
ZU‘Q&O&'SO%ZS&’AO.

5. Discuss the Pillars o

06 5Gof LY TRy SByoi0.
[l '

S-259

£ Direct Marketing.

Bx5= 25)
e of the following |

[PTO.
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/ Importance of Advertising:

esso iRt
" Explain about €
8. Target return pricing:

B0

hannels of distribution.

SECTION - B (5 x 10= 50)
.
Answer any five questions

9. /&) What is pricing?. What factors influence ricing?
255 9083 D039 G0 (;)w:)éoiﬁ?o@o«?e»b&b&?
OR \ -
b) What is new product pricing? What variation doe,\\s
it take to success?
T &9 55 0083 D037 30 DearAI I IG5 é&ﬁo&oewo@\?

10. ay” Explain MC Carthy’s 4 Ps of marketing mix.
MC 585 575e30R o3ty 4 Ps 165800 38050500
OR
b) What is product positioning? What steps are
involved in it?
658 Frren 0o D39 I D sk &2
S-259 . 2

BCGM - SN301

1. a) What is PLC? Discuss its stages.

PLC 083 220637 T+ 530 1380308,
OR
b) Write about the segmentation basis for consumer
markets.
DG 57y s Lm0 10600 Erapod.

{  Write about new product development process.
TG 5350 0DH0E 2 HEabe D000,
OR
b) Explain the differences between Skimming and
Penetration pricing.
Sre (Skimming) 56303 H080%0 TinH PS> B SodSs
ST oD DsBoisod

13/What is promotion mix? Explain the factors

affecting marketing of promotion mix.
(575 QoER0RI00 RTTRNL 2 (55376 Do SrTE3oRss @erdiso
Voo woses JsBosod.

OR
) Write about product life cycle.
3559 2808 Q) DisBoisod.
L 2 X 4
S-259 131 ~—_
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UGRT - SN301
B.A./B.Sc./B.Com.(Genl)/B.Com.(CAS)/BBA/BCA
DEGREE EXAMINATION, MARCH-2023

(THIRD SEMESTER) (NEW REGULATION)
SKILL DEVELOPMENT (Skill Courses) (Commerce Stream)
Retailing

Time : 1% Hour Max. Marks : 50

I. Answer any Four questions. Each answer carries
5 marks. 4 x5=20)

/ Retailing.

DR T 0.

/ Store location. .
$55

3. Business
TP,

4. Loyalty.
a o]

5-271 I (RO



Social mapact

‘N

RSN
o lob profile.

R RN Y

7. Merchandise planning.

8. Sales and services.

SO 290 e

II. Answer any three questions. Each@nswer carries

10 marks. (3 \It'i 30)
/i b

ﬂf‘ Define retailing its nature m{';d scope.
7/

/0 oo0afodar s S 3000 D

[
/

10. Describe types of retailing.

5?8&5&?&?; 8o,
S-271 2]

11’ Desceribe administratjye m

/

12. Write notes on stores d

13. Discuss communication w ith custom

ANTITWOS AW Hed SN

S-2

UGRT - $Nagj

LA X 2

Bl

echanism.,

esigns and operations.

Qhwmh \m-ﬁ RS

NSTS.

D
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B.A./B.Sc./B.Com. (Genl) B.Com.(CAS) BBA/BCA DEGREE
EXAMINATION, MARCH -2023
(THIRD SEMESTER) (New Regulation)

LIFE SKILL COURSES
Analytical Skills

Time : 1% Hours Max. Marks : 50

SECTION - A

Answer any four questions. Each answer carries 5 marks.
(4x5=20)

)

}/ Find the missing terms in the series 31, 27, 23, 19,
11, 7.

/2.’ Simplify 3640 + 14 x 16 + 340?
/3’. Find the H.C.F. of 204, 1190 and 1445?
4. The ages of two persons differ by 16 years. If 6 years
ago the elder one be 3 times as old as the young one.

Find their present ages?

5. Karthik is younger than Vasanth by 7 years. If the ratio
of their is 7:9. Find the age of Vasanth.

S-303 o0 [PTO.
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M\ Ram sold a cow for Rs. 136 and thus Ew\ﬁ 15%. At what
price should he have sold it to gain 15%

1£ 50% of (x—3) = 30% (¢ +) then what percent of x
isy?

8. Write about pie-charts?

SECTION - B (3x10=230)
* Answer any three questions. Each answer carries 10 marks.
. a) Explain letter analogies.

b) Explain number analogies.

0. a) Explain “BODMAS?” rule.

b) The sum of the two numbers is 22 and their
difference is 14. Find the product of the numbers.

11/ The respective ratio between the present ages of Parag

and Sapna is 21:19 six years ago, the respective ratio

/  between their ages was 9:8. How old is Hina, if her

! present age is 12 years less than Sapna’s present age?

/' A bike covers a certain distance at the speed of 64 km/
hr in 8 hours. If the bike was to cover the same distance
in approximately 6 hours at what approximate speed
should the bike travel?

$-303 2l

1¥. Royalty - 15%

UGAS-SN301

Printing cost - 20%
Paper cost - 25%
Binding - 20%

Promotion cost - 10%

Transportation Cost - 10%

v

i) Iffor a certain quantity of books, the publisher has
to pay Rs. 30,600 as printing cost, then what will
be amount of royalty to be paid for these books?

ii) What is central angle of the sector corresponding -

to the expenditure incurred on royalty?
iii) Royalty on the book is less than the printing cost

by?

14) Explain Venn diagram and its 535&68.

S-303

e AL
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